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QUESTION 1

Why should an application developer give a lookup cube name a prefix? 

A. To identify it as a lookup cube to TM1. 

B. To identify it as a lookup cube to users. 

C. To identify it as a lookup cube to other cubes. 

D. To prevent other cubes from having the same name. 

Correct Answer: B 

 

QUESTION 2

Why would an application developer create a formula in a variable? 

A. To write data to a data source. 

B. To delete data from a data source. 

C. To combine two columns from the source. 

D. To remove two columns from the source. 

Correct Answer: C 

 

QUESTION 3

Why would an application developer assign a negative weight to an element in a dimension? 

A. To store credit balances without a negative sign. 

B. To provide an alternate drill down path to the dimension. 

C. To display data in different formats. 

D. To store data in multiple hierarchies. 

Correct Answer: A 

 

QUESTION 4

When an application developer adds new rules to a cube, which of the following statements should be added to the
rules file to turn the fast consolidation algorithm on? 

A. SKIPCHECK 
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B. STET 

C. CONTINUE 

D. FEEDERS 

Correct Answer: A 

 

QUESTION 5

What can an application developer provide to automate the save process for all TM1 objects? 

A. A script to store ODBC data in a cube. 

B. A chore with scripts to write data to all cubes. 

C. A rule to save data in all cubes. 

D. A chore with scripts to write data to all dimensions. 

Correct Answer: B 

 

QUESTION 6

Aggregation is automatically applied when building a dimension. Which of the following option is the basis for
aggregation? 

A. Formats 

B. Rules 

C. Attributes 

D. Hierarchies 

Correct Answer: D 

 

QUESTION 7

Why must an application developer publish a report or template in an application folder? 

A. To update the reference on the TM1 server. 

B. To move the reference to the TM1 server. 

C. To make the reference available on TM1 web. 

D. To move the reference to a common location. 

Correct Answer: C 
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QUESTION 8

An application developer can either create a new cube or use which of the following automatically generated cubes to
look up data? 

A. Control 

B. Reporting 

C. Consolidation 

D. Virtual 

Correct Answer: A 

 

QUESTION 9

Which of the following rules indicates an incorrect or missing feeder statement? 

A. Jan and Q1 have values but Feb and Mar are zero. 

B. Jan and Feb have values but Mar is zero. 

C. Jan, Feb, Mar are zero but Q1 has a value. 

D. Jan, Feb, Mar have values but Q1 is zero. 

Correct Answer: D 

 

QUESTION 10

Why would an application developer use a DB () function in an internal cube reference? 

A. To nest another function into it. 

B. To format data in a cube. 

C. To clear data in a cube. 

D. To display an alias. 

Correct Answer: A 

 

QUESTION 11

Which of the following spreading methods may use a lookup cube as the basis for the spread? 

A. Proportional 
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B. Repeat 

C. Percent change 

D. Relative proportional 

Correct Answer: D 

 

QUESTION 12

An application developer needs to quickly populate a large number of cells in a cube with the same data. What is the
fastest way to accomplish this? 

A. Create a TI process. 

B. Spread data into the cube. 

C. Type the data into the individual cells. 

D. Copy the data from the source and paste into the cube. 

Correct Answer: B 

 

QUESTION 13

In order to calculate Revenue in the Sales cube, the application developer uses the Unit Price from the Pricing cube to
multiply it by Units sold, also in the Sales cube. 

Where should the most efficient rule and feeder reside? 

A. Rule and feeder in Sales. 

B. Rule and feeder in Pricing. 

C. Rule in Sales, feeder in Pricing. 

D. Rule in Pricing, feeder in Sales. 

Correct Answer: A 

 

QUESTION 14

When users cannot access a TM1 application, the application developer should ensure the host process is correct. 

Which of the following is the host process? 

A. TM1 data server 

B. TM1 admin server 

C. TM1 web server 
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D. TM1 local server 

Correct Answer: B 

 

QUESTION 15

Which of the following scripts should be used to create a new dimension? 

A. Metadata 

B. Data 

C. Parameters 

D. Epilog 

Correct Answer: A 
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